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counting and financial accounting

1. (A) Give difference between management ac
(B) State limitations of financial statements. 7
OR
(A) Give Functions of mana gement accountant. 7
(B) Following information regarding production of a producing company is available.
From these two years information prepare comparative fit and loss account : 7
31/03/2014 31/03/2015
Particular Amount | Amount Amount Amount
) (9 ) (9,
Sales 1.95,000 2,1 lfl.[)'[)'lf?'ﬂ_i
Less : Cost of goods sold : | |
Opening stock 19,000 21,000
Raw material consume I 65,000 75,000
Direct wages 60,000 72,500 |
Factory @€xpenses 48,000 51,000
Adm. and selling exp- 21,000 24,000
2.13,000 2,43,500
| Less : Closing stock 21,000 35,000 |
Cost of goods sold 1,92,000 2,08,500
Net profit : 3,000 s 1,500 l
__—-—-_
Units produced 3,300 |- 3.250
Units sold 13:250 3,000
9 P.T.O. -1




The following information i1s taken from the financial accounts of two companies

L

80,000

Particulars Gujarat Ltd. | Saurashtra Ltd. .

Amount () Amount (%)
Gross Profit 96,000 1 1,12,000
Cost of goods sold 2,24,000 2,08,000
Net profit (before tax) 32,000 51,200
Equity share capital 1,00,000 80,000
Reserves 25,400 64,100
Sundry creditors 30,000 40,000
Bank overdraft 14,000 30,000
Land and Building 75,000 75,000
Plant and machinery 85,000 | 80,000
Closing Stock 30,250 I 60,200
Pre-paid Insurance 250 300
Sundry debtors 40,000 36,000
Cash balance 17,500 8,500
Preliminary expenses 400 1,100
10% debentures 66,000

Tax rate 15 35%. Cash'sale of Gujarat Ltd. is 25% while credit sale of Saurashtra Ltd. is

60%.

Caleulate the following accounting ratios of both the companies from the above
information and comment on the position of which company is better :

(1) Current ratio

(2) Operating ratio

<(3) Rate of Return on capital employed

(4) Debtors ratio (360 days of year)

(5) Rate of Return on shareholder’s fund.

- MD-101
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2 ~ :Following particulars of Prince Ltd. are available for the year 31-12-2014 : .

Equity share capital
10% preference share capital
10% Debenture

10% long term loan
Retained eamnings

Current assets

Fixed assets

Fictitious assets

Opening stock

Closing stock

Net profit (after tax deduction at 60%)

Additional information :

(1) Credit sale is 1.5 times of cash sales.

(2) Debtors and Bills receivable are 333

(3) Stock tupnover ratio is 10: while gross profit ratio 1s 33%.

]
= 04 of current assets.

3
10,00,000
5,00,000
1,50,000
1,00,000
2,50,000
7,50,000
17,50,000
50,000
1,85,000
1,50,000
2,50,000

From thedbove particulars, calculate following ratios :

(i) Net profit ratio

(i) Operating ratio

(iii) Debtors ratio (consider 360 days for a year)

(iv) Rate of return on capital employed.

(v) Rate of return on shareholder’s fund.

(vi) Rate of return on equity capital.

i) Ownership ratio.

11

14
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Prepare cash flow statement from the Balance Sheet of a company as on 31-03-2013

and 31-03-2014; as per Accounting Standard - 3 : s . 1
Liabilitics J} 1-03-13 | 31-03-14 | Assets 31 —05-13 31-03-14
Equity shares of 2,00,000 | 3,00,000 | Goodwill 80,000 GM
T 10 each . |
Pref. share capital of 70,000 ¥ Buildings 1,60,0004 2,50,000
¥ 10 cach T 7 paid
Security premium 15,000 10,000 | Machines 1.40,000I 2;00.000.

Reserves 80,000 50,000 | Investments ' 40,000 "
Profit & Loss A/c. 35,000 | 75,000 | Stock I- 30,000/ 50,000
4% Debentures - 1,00,000 | Debtors 44,000/ 40,000
Creditors 50,000 | 60,000 | Bills | 10,000| 10,000

receivable

Bills payables 20,000 - Cash 10,000f 11,000
Provision for tax 24.000 30,000 | Bank - 40,000
Proposed dividend 20,000

36,000

| 5.14,000

6,61,000 5,14,000 | 6,61,000

Additional information :
(1) Depreciatioft provided,during the year for building is T 30,000 and machinery
< 25,000:

(2) After fulfilment of company law provisions; pref. shares are redeemed at 5%
redemption premium, for this necessary amount is transferred from general

reserve to capital redemption fund.
(3) Debentures of ¥ 1,00,000 are issued at 5% discount,

(4) The company has issued bonus shares at 2:1 to present equity Slmremlders o
capital redemption reserve.

(5) Income tax pmd 3 25,000 aﬁd prnpused dividend of previous year is also paid.

Jli

(6) lnvestments- are sold at a proﬁt of 20% on selling price.
OR
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3. (A) How does cash flow statement differ from fund flow statement and what are uses

of cash flow statement ? 7

(B) Following is Balance Sheet of a company as on 31 -03-2013 and 31-03-2014: 7
| Liabilities 31-03-13 | 31-03-14 | Assets 31-03-13| 31-03-14]

Equity share cach of | 1,60,000 ~ | Goodwill 1,00,000 94,000

T 10; ¥ 8 paid up : 1

Equity share each of - 2.00,000 | Land-Building 4.10,000| 2,80,000

T 10 paid up i

General Reserve 2,80,000 | 1,80,000 | Current assets - 50,000| 1,76,000

Capital Reserve - 20,000 | '

Profit & Loss Alc. 1,20,000 | 1,50,000

5,60,000 | 5,50,000 Ls_,gu,ooi 5,50,000

Additional Information :
(1) Land and building having original cost of X 1.40{000 and written down value of

% 1.00,000 have been sold for X 1,60,000. Qut of the profit on sale the capital
profit has been transferred to capital reserve and the revenuc profit has been

credited to Profit and Loss A/c.
(2) Bonus has been declared out of general reserve to make partly paid equity shares

to fully paid.
From the above informatiof prepare nccessary ledgers of assets; reserves and equity

share capital.

4. (A) Explain the advantages and limitations of zero-base budgeting. 7
(B) A company produces Product-X and Product-Y. Company has three branches.
Manager has given following estimates for the year 2015 : 7
2 Pruduct' Branch—-1 Branch-2 Branch-3 '

X’ (units) 1,00,000 1.60.000 48,000
Ly (units) 1,20,000 1.80,000 30,000

The selling price pf X’ and ‘Y’ are T 20 and T 15 respectively. It is estimated by
the manager that sales of “Y’ in Branch — 1 can be increased by 30,000 units by
substantial increase in advertisement and sale of “Y’ in Branch-3 can be raised by
15,000 units by making necessary changes in administration of production and
sale office. In respect of both products, the sale of Branch-2 is not satisfactory
and an increase of 20% is required. |
From the above preparc sales budget.

- OR
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4. Prepare a cash budget for three months ending on 30" June, 2015, from the JOHOWIES = i
information of Shakti Ltd. 14

Cash and Bank Balance as on 1 April, 2015 is ¥ 20,000. The cost of goods in terms of

percentage of the selling price is as follows :
Materials 30%
Wages 20%
Factory overhead 25%

The production and stock of finished goods in units for various months are as follows:

Production Stock

Month

(Units) (Units)
February 12,000 2,000
March 16,000 6,000
April 14,000 4,000
May 18,000 2,000
June 25,000 2,000
July 19.000 4,000

(1) Selling priee is ¥ 200 per unit.

(2) Assume40% of total sales as cash sales.

(3).450% of credit sales collected in the month after sales and remaining 50% in the
second month after sales.

(4) For anticipating sales of each month necessary purchases are made in the
preceding month. Purchases are made for cash.

(5) Time lag in the, payment of wages is % month and time lag in the payment of
factory overheadis one mopth.

(6) A new machine is t0 be.bought for T 6,00,000 in May, 2015, the payment of ¥

which are made in three equal monthly instalments from the delivery date.

- MD-101 14



5.
(1)

(2)

(3)

(4)

(3)

(6)

MD-101

Select the correct option and show necessary calculation. (Any seven) 14

Which of the following points is not correct in limitations of financial accounting ?
(a) Present only past data

(b) Useless for controlling

(c) Presents dead figures; not interpretation

(d) Use for tnEing decisions

Which of the following methods is not a tools and techniques of management
accountancy ? |

(a) Standard costing (b) Historical costing

(c) Unit costing (d) Marginal costing

To find expense ratio; expenses are generally divided by

(a) Capital employed (b) Sales

(¢) Profit (d) Assets

Provision for taxation was T 18,000 on 31-03-2014 and T 12,000 on 31-03-2015.

Income tax of T 10,000 paid during the year. Then how much provision should be
made from the profit during the year ?

(a) ¥4,000 (b) T 10,000

(c) ¥ 12,000 (d) ¥18,000

Which of thé following is not a purpose of budgeting ?

(a) Budgeting forces advance planning.

(b) It communicates management’s policies to sub-ordinates.
(¢) ltrequires approval for routine spending.
(d) It'establishes prices for internal services.

A'company produces product-A. Its sales budget shows sales of 50,000 units. The
opening and closing stock of product-A are ‘9600 units and 12000 units
respectively. As per production budget state thé production of product-‘A’.

(a) |1 ,00,000 units (b) 38,800 units -
(c) 52,400 units (d) 66,800 units
15 | P.T.O



(7) From the following information of Bhim Ltd., find cash received from sales of

October month as per cash budget :

Month l Sale (%) | Month | Sale )
Ty 3,00,000 | September |  4,00,000 R
; ,00, ptember 4,00,
August | 3,50,000 I October 4,50,000 | ' \
E'-a;h salzs are 30:‘/: of total sales_._SO% of the credit- sale are collect %
after sale, 40% in second month after sale, and 10% in third mo@ .
(a) T 3,94,000 (b) T 4,78,000 ] |
(¢) T6,16,000 (d) 7,00,000
(8) In order to produce one unit of finished product w rial ‘A’ and ‘B’ are

required in the proportion of 4 : 1. Openin
200 units and 100 units respectively. Clos

-and B is of 200 units,
. A and B is of 400 units,
sale 2000 units of finished
0 and T 20 per unit respectively.

240 units, 60 units respectively.
product ‘X’. Price of ‘A’ a
| How much is the total amount

(@ ¥13,000 4

(¢) ¥ 13,400 \

es, opening stock is ¥ 5,000 less than the closing stock
20,000. Find out purchase.

(b) ¥ 1,05,000
d) ¥ 67,500

or necessary purchases ?

by 13,200

d) % 26,000

(9) If stock tu is

and av

(




